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I. Chuose the correct anriwer. {3S x X mark = 3$ rnarks}

1.. Which of the following is the smallest unit of data in computer?
a. Bit
b. Byte
c. Pixel

d. Megabyte
2. Which programrning language is often referred to as the "tnotlier of all

languages"? ",

a. Java
b.c
c. COBOL

d. Fortran
3. What does HTML stand- for?

a. HyperText Markup Language

b. High-level Text Management Language

c. Ftryper Transfer Markui: i,anguage

d" Hyperlinking and Text Markup Language

4. Which data structure friilov;s the L.ast-ln-First-Out [[,lFOJ principle?

a. Queue
b, Stack

e. Linked List
d, Tree

5. Which algorithm is used to find tfle shortest path in a graptrT?

a. Binary Search

b, Depth-First Searcir

c, Breadth-FirstSearch
d. Dijkstra's Algorithrn

6. What does SQL stand for?
a. Sirnple Query Language

b. Structured Query Language

c, System Query Language

d. Standard Quer5r lsgio



7, Which programming model emphasizes the use of functions and procedures?

a. Frocedural Programn'ring
b. F'unctional Programrning
c. Object-0riented Programming
d. Event-Driven Frogramming

L Which component af the computer is responsibie for performing ar'ithmetic and

logical operations?
a. Ceniral Processing l.init ICPUi
b. Random Access Mernory (RAM]

c. Flard Disk Drive IHI]DI
d. Graphics Processing Unit [GPU]

9. Which pr*tocol is used for sending emails over the internet?
A, HTTP
b. FTP

C. SL,ITP

d, TCP

10. Which of the following is not a data type in Python?

a" int
b. float
c. string
d. decimal

1L. What is the main purpose of an operating system?

a. To manage software and hardware resources

b. To run applications
c. To edit documents
d. To design graptrics

1"2" Which type of network topclogy involves connecting ail devices in a circlel'

a. Star
b. Bus

c. H.ing

d. Ivlesh

13, Which sorting algorithm has a worst time complexity ofl CI[n tog nJ?

a. Bt"lbble Sort
b. Insertion Sort
c. Quick Sort
d. Merge Sort

L4. Which programming }anguage is commonly used for developing wel:

applications?
a.C
b. Pythcn
c. t{uby
d. lavaScript



15. What does URL stand for?
a. Universal Reference Language
h. Uniform Resource Locator
c" Unified Routing Language
d. l.lser Registration Link

16. Which data structure represents a hierarchical relationship between elements?

a. Array
b. Linked List
c. Tree
d. Stack

17. Which prctoco! is used to secilre communication Over the internet?
a. IITIP
b, FTP
c. SSL/TLS
d. SMTP

18. Which programming language is known for its simpiieity and readability?
a. Assembly Language
b, COEOL
c. Java
d" Python

1"9. What does CPU cache help improve?
a" Diskstnrage
b. RAM capacitY
c. Processor speed
d, Netw*rkconnectivitY

20, iffhich database madei uses tables t0 store data with rows and columns?

a. Hierarchicai
b. Network
c. Relational
d. Object-0rienteC

21. What does lP stand for in ttre context of cornputer netlvorks?

a" Internet Frovider
b, Internet Prot0c0l
c. Information Frotocol i

d. Internet Port
22. Whicir type of malware is designed to spread from one computer to another?

a. Spyware
b. Trojan
c. Virus
d. Worm

23, Which clata structure provides constant-tirne access to eiements?

a. Linear data structures
b, Tree
c. Hash Table
d. All of the above



24. tr{/hat is the purpose of a firewail in computer networks?
a. To block unwanted emails
b. T'o prevent data loss

c. To secure the network from unauthorized access

d. To optimize network spee<i

25. What is ttre primary function of an assembler in the context of programming?

a. Tc execute code
b, To translate high-level code into rnachine c{}de

c. To manage memory allncation
d. To design user interfaces

26. Which ribbon tab is used to change the font formatting in Microsoft Word?

a. lnsert
b" Review
c. Horne
d. vrew

27. Which option in lr{icroscft Word can be used to create a sofl copy of the curi'ent

document?
a, New
b. Save As

c. Frint
d. Close

28. Which keyboard shortcut is used to insert ,a new worksheet to an existing

workLrook in Micnosoft Excel?

a. Ctrl + F1

b. Ctrl + N

c. Shift + FL 1

d. Crl+Alt+N
29. What does a cell reference like "$A$1" indicate in Microsoft Excel?

a. The celi is locked for editing
b. The cc'il contains a formula
c. The cell is empty
d. The cell reference is absalute

30. Which feature in Microsoft Excei is used to protect a worksheet or '*,orkbook
frorn unauthorized changes?

a. Protect Sheet
b. Flide Cells
c. Autr:Fill
d. Merge Cells

II. Write "True" otr "False" against the statement provided. (30 x 1 mark * 30
marks)

1" A byte is equill to S bits.

7.. Fythcn is a stalic;ttr}y tirred pr'.tgrarnming langtlage,



3. SQL is used for creating attractive web layouts,

4. The "C'rrl + 2" shortcut is usecl to redo the last er:tinn il': most a.pplications"

5. rt linkeri list consists of nodes '*ihere each nr;,.le poinis ti: th* previous node.

6. An API (Application Prograrnrning lnterfaceJ allows different software

applications to communicate with each other.

7. PHP is a Cliei:t-side scripting language erabedded in HTML in its simplest forrn'

B" An array Is a data structure that can store elements of different data tlpes'

9. HTML is a programrning ianguage used to create dyn;:nric rvetr app'rlications.

.:

10. Ethernet is a protocol used for wireless comrnunication.

L1. A gigabyte is equivalent to 1"024 megabytes' l

12. RAID stands fcr Redundant .Array of Inexpensiqe Disks and is used for data

hacltup.

13. IPv6 is an older version of the Internet Frotocol used for networking.

14. A weLr br+t',,ser is an exan:pli: oi'applicatioti sollr't'are.

15. Cloud computing refers to storing and accessing data and programs over

portable harddisk-c"

L6. Turing compieteness is a property that indicates a programming ianguage can

simulate a Turing machine'

1?. Multitasking ref'ers to the ability of an operating system to execute rnultiple tasks

simultaneously.

18. DNS stands for Doneain Name Service and is responsible for transiating ciomain

narnes to IF addresses.

Lg" A distributed deniai-of-service [DDoSj attack aims to n:ake a network or service

unavailab!e by overwheirning it with rraffic"

'l



20. The BIOS [Basic Inputlt]utput SystemJ is responsible for booting the comr:uter
and initializing hardware contponents,

21" FLOOR function is used to round a number cio'uvn tr: thr.: nearest integet in
Microsr:ft Ll:<cei.

22. C0UNTA[A1:A10] in Microsoft fixcel counts the num]rer *f bot]r empty and nr:n-

empty cells in the range At to 4L0,

23.'llhe "Text Highlight Coior" butlon on the Home tab in Microsoft Word aliows you

to change the font color.

24" The "Review" tab in Microsoft Word allow ICru to check spelling and grammar.

?S,Page Layout option is used to change the orientaticn of a page to landscape in
Microsoft iVlrrr1.

26. Press Shift + Enter keys to change the iine spacing in a paragraph in Microsc,ft

Word,

27.'fhe function StlM{Ai:A5J dri in [4icrcsoft Excei c;,ricirlates i:he sum of rraiues in

cells A1" to A5.

28,I\4AXIMIZE tunction is used to iind the iargest value in a range ol' ct':lls iir

Microsoft Excel.

29. A Pivot'lable in Microsott iix,:el is used lc si;iti:'ilarlz* iind. anaiyze d;rre'

30. Press Ctrl + = to align text to the center of a page in Micrcsoft Word'

:



uI. Match the Terms in Colurmn A with related Terms from Column B by filling the

corresponding alphabet in the space provided [10 x 1 marlr = 10 marks)

Column A
Write the

matching alphabet
from Column B

Column E

I HTTP status code

404

A Manages operations ol
cornputer and hardrr,'are

L CPU cache B tiure delay between :;ending

and receiving data in a

netw'ork

5 Cascading Style

Sheet

C Uses two values onlY [true
and falsel

4 Hash function I\ Sinall, iast storage area ltsed

to store frequently accessed

data

5 Kernel E Broken or missing link

6 Booiean logic F Llsed for encryption
a Latency t G D escribi ng the Presentation

of a docuntent rt rii.ten in a

markup language

I Recursive function H Decentralized digital ledger

technology

I XOR gate I Calls itseif within its own

definition

L0 Blockchain I) gives 1 as output when the

number of 1 in the inPuts is

odd


